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Candidates are required to give their answers in
their own words as far as possible.
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You must write Question Paper Series in the circle
at the top left side of title page of your answer-
book.
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Section-C consists of 4-

questions and eqepy
carries two marks. It has questions Jrom 21 1 24 S.

Question No. 23 and 24 have Internal choice
Section-D consists of 4 questions from Q. No.2s

to 28. Question No. 26, 27 and 28 have Internal
choice and carries 3 marks each. Section-E T
consists of two questions Q. No. 29 10 30. Bothy |
questions have Internal choice and each question
carries 5 marks each.

qug- .
Section-A ) 44
UF 3% qr 999 ¢ |
All questions carry one mark ecach.
1. qUiisl 26 3T 91 & HCF & | h! :
(3) 1 d) 3 | ﬂ
(#) 13 |
HCF of Integers 26 and 91 will be 5

|
hc b 3 |




Polynomial of degree 2 is called
polynomial.

(a) Lincar (b) Quadratic
(¢) Cubic

fEare TfiEor ax? + bx + ¢ =03 3 ITET IR
oo 8 af RffEet D=b*-4dac ___ ®| |
() <0 @ >0

#F =0

A quadratic equation ax® + bx + ¢ =0 has two equs
and real roots if Discriminant D = b* - 4a
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@ <0 (b) >0 |
(c) =0 |
em @ 3 x+ 2y + 5 =03
_3x-6y+1=0 H G H 8@ N
(@) #4990 @ (3) uRfg w9 F I

@) 1z T
The pair of Linear Equations x + 2y + 5 =0
-3x—-6y+1=0has ;

2 . I
(a) aunique solution

(b) Infinite many solution
(¢c) No solution
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1™ term of the A.P. - 3, -
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Equilateral

Isosceles

Scalene triangles
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= (JUI)* + (FA|qY 1
() (&) @ )

() 0

According to Pythagoras theorem :
______=(Basey+ (Perpendicular)’
(a) (Hypotenuse)’ (b) (1)
(c) O

R p(x.y) 0o g A g8 @l 811
3 (x,-x,)+,-y) |

@ Jx,-x) + 0=y |
@ JxI+y? ;
The distance of a point p (X, y) from the Dﬂﬂ’
IS |
(@) (x,-x)V+(y,-y)

b)  Jix, - %, +(y,-y,)

@ ey




AC=12cmalx BC'—'ﬁcm%IQ?f"T B2
() 120°

(d) 90°
(|) 45°

Select the correct answer. In triangle ABC

AB =6./3 cm, AC = 12 cm and BC = 6 cm. the
angle B is

(a) 120° (b) 90°
(c) 45°

10. FEIE P(x)=3x*-5x*— 11x -3 7 LR F §&A
e !
(37) 3 @) 2
@) |

In Polynomial P (x) = 3x’ - 5x2 = l1x — 3, the

number of zeroes are
(a) 3 P 3
(c) 1




11. f%aamagwa ax? + bx + ¢ §, I B gy

l
b
(3 - q) -
a
-C
M —
a
In a quadratic Polynomial, ax?> + bx + ¢ sum of |
zeroes is ‘
(a) (b) ~ !
) — .
a

|
12. uﬁ@%mﬁmﬁ‘gﬁaﬁagmﬁ@r@éi

g A Rl &, & 78 Yo dwd g 3

ot By 1
(37) FHIG (@) T4 l
(7) Tt 13. .
Ifa line divides any two sides of a triangle in the -' | (
same ratio, then the line is ___ to the third | )
side, | g
4a) Parallel (b) Perpendicular | ;
(c) Proportional 5
T-1-90:.
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Section-B consists of 8 questions based on l:wo
Case study. Each question carries one mark each.
$9-1/ Case-1

ITH WE T FX GUET e & o &% @
A ABC TH PR Qe & | e 7oA a8 1000
TR F 5 A g€ F@ FA 118000 5 35
F FHET ¢ | IR T HEA B A% T8 TAB T
100 92 FET FX e am & @ Fr gl 3
I T

Your brother wants to buy a car and plans to take
loan from a bank for his car. He repays his total
loan of Z 118000 by paying every month starting
with the first installment of X 1000. If he increases
the Installment by X 100 every month, then answer

the following questions:

13, 3041 fred g Read 594 gECW 7 1
(31) 3500 (d) 3000
. (@)~ 3900
he Amount paid by him in 30th Installment ?
(a) 3500 (b) 3000
Ac) 3900
T-1-902-A (9) [PT.O.




14.£ﬁﬁw@mmm? : f
73500 @) 75000 :
@) 75300 ;
The total Amount paid by him in 30 installments 7 3
(@) 73500 (b) 75000 :
(@ 75300 *:
15. 305 P 3 ar, 3@ ol oiR Fra s@ <
3% F gEA & ? ! ,
(31) 49000 (@) 44500 | |
() 45500 | |
What Amount does he still have to pay after 17, °
30" installment ? . | i
(a) 49000 /(b)) 44500 | |
(c) 45500 " |
16. 3R FT [hedl Ht we 40 & A, 8 wifaw R |
i S F YT HOT ? 1 ;
&1y 4900 @) 3900 4
() 9400 _ | |
If total installments are 40, then amount paid in last | '
installment ? ‘
(a) 4900 (b) 3900
(c) 9400 19X
T-1-902-A (10)
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e &9 (Eco Club) ¥ 31q3

3 e 3 2 A0 T T 0 e oy
TH T B U A F G| FE B 0% e 3
goa R & 1R @ Fwin & s admon

y

2x + 6y = 5, @ B ggAt B It o
An Eco Club of a School decided to build two
straight paths in their school’s park such that they
do not cross each other. One member of the club
suggested that the paths should be constructed,
represented by the two linear equations.

x — 3y =2 and 2x + 6y = 5, then Answer the
following questions :
gfe W BT FE ax+ by + ¢, =03
ax+by+c,=0% AR & 8 % & 2

1

a P a1 |98 B
= a, b, ¢ ( a, b, ¢
U

a, b, ¢

If the pair of linear equationsax +b)y +¢, = 0 and
a,x + by + ¢, = 0 has infinite solutions, then
condition is

o, b _¢o a_b_&
—_— g — = =

(a) a, b, ¢ (b) a, b, ¢
a_b_ &

() a, b, ¢

T-1-902-A (11) [PTO.




$9-2/ Case-2

An Eco Club of a School decided to build two
straight paths in their school’s park such that they
do not cross each other. One member of the club
suggested that the paths should be constructed,
represented by the two linear equations.

X — 3y = 2 and 2x + 6y = 5, then Answer the
following questions :

gt s Hﬁﬂo’("{g’ﬁ a,x+by+c.=03ﬁ'{'

a,x+b:y+c2=0$mﬁﬁaﬁqémﬁﬁ?l
a B mg#ﬁ%l
(H)

(%)

If the pair of linear equations a x + by + ¢, =0 and
ax+by+c,=0 has infinite solutions, then
condition 1S

(a)

(c)




18. IR Y@wit & gm gt @, @ Was Tliwmy
T B |
(3N) T (@) 91
@ i a F e

[F the pair of lines are parallel, then pair of linear
equation is

)

(@) Inconsistent (b) Consistent

(c) None of these

19. @I x-3y=2W B R R ¥ 1.
(37) TH @) &
(q) SHfFa |
How many points lie on the line x — 3y =2
(a) one (b) two
(c) infinite

20. 3R @ 2x + 6y = 5, X-NH B Fed & O 79
P & & | I
() (+2.5,0) () (0,-2.5)
() (0, 2.5)

If the line 2x + 6y = 5 intersect X-axis, then find its
co-ordinates.

(a) (+2.5,0) (b) (0,-2.5)
() (0,2.5) 1
T-1-902-A (12)
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All questions carry two marks.

e A e & AW @ demsd
196 3T 38220 F H.§.4. (HCF) T 1 2
Use E uclid’s division algorithm to find the HCF of
196 and 38220.

% fOn Tgwe T Ahw, Rad e @
Waﬁrwmr:--}aﬁtiﬁn 2

Find a quadratic polynomial, as the sum and product

I | ,
of its zeroes is — P and 1 respectively.

ABC T @HizaTg BYw ¥ e S C T
3| fag Ffm B AB2=2AC? B
ABC is a isosceles triangle, right angled at C.Prove
that AB? =2AC%.

qi/or
P IO 2x2 + kx +3 =0 ® k& A A
i aft qREr $ & I g9 o 2

Find the value of k for the quadratic equation
2x2 + kx + 3 = 0 so that it has two equal roots.

[P.T.O.




28.

26.

T-1-902-A

24.

Faifta #ife & #0 @&g (1, 5), 2, 3) oy |
(-2.- 1)@ B
Determine if the points (1, 5).(2,3)and (-2, - 1)
are collinear.

qi/or '
X-38 @ Jg G FA A (2, - 5) 3
(-2,98 995 2| 2
Find the point on X-axis which is equidistant from
(2,-5)and (- 2.9).

qus-g
Section-D

TS U 3 3% FT B

All questions carry 3 marks.

ez #ifoe & 5 - 3 o et e 31 3 |

Prove that 5 - /3 is irrational number, i’-

q HIE BN F TS BT 8RR FHror F 18 R
AieF 81 IR s P |
The larger of two supplimentary angles exceeds the
smaller by 18 degrees. Find them.

qi/or
Rl (a,b) T (-2, -b)D d9 3 g 7@
Fifoa | 3
Find the distance between the points (a, b) and
(—a,-b).
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27.

28.

29.

P(X)=x“~3x’+-5x_3 o)
e '

Divide P (x) = x? - 352

E',fx)’-x’-zﬁqm

+ §x - Jb)fg(x)=x2—2
4T /or

m%mmmmmmau
(- 1.0).(2,-4) &} 3
Find the area of triangle whose vertices are (2,3),
(- 1.0),(2,-4).

Al AP & 999 O3 5. w97 45 3l 4m
400 2 | W31 F dEwr AT gd AT T F |
The first term of A.P. is 5, the last term is 45 and
the sum is 400. Find the number of terms and the
comman difference.

qi/or
21 FANTT g QI B O 306 & |
S| I | 3
The product of two consecutive positive integers is
306. Find the Integers.

g3

Section-E

g e 5 o e

All questions carry 5 marks.
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